
Assembly instructions | הוראות הרכבה

AM-RHT-E-1 | AM-RHT-E-2 | AM-RHT-E-3

ספייסר
Spicer

רגלית למניעת החלקה
Anti-slip foot

סיליקון מקשר
Silicone binder

ספייסר זכוכית
Glass 

 - M5x10 - בורג אלן
ראש קוני 

 Socket Head Screw
 M5x10 DIN-7991

 - M6x30 - בורג אלן
ראש קוני

Socket Head Screw 
M6x30 DIN-7991

01

02

M5x10 



03

04

M6x30 


